
Iridium SVP-BTC80 transmission format Version 4 + BTC80

Marlin SVP-BTC80 Iridium buoys (2008)



Table 1 - Dataformat

Columns :

· Mode is used to describe the type of data. It serves to determine which format must be used for GTS data. Meteo-France convention: “3” is used for buoy data; “1” for ship data.

· Column “Bits” : length of the word in bits for the parameter;

· Column “Pos” : Start bit in the message for the parameter;

· For some parameters, “Max” is just an approximation;

· Values for missing sensor or computation should be “all bits fitted to 1”;

· Total length of the total version 4 + BTC80 message : 464 bits i.e. 58 bytes, which includes 144 bits (version 4 data) plus 320 bits (BTC80 data);

	
	2nd Iridium
parameter
	1st GPS
parameter
	2nd GPS
parameter

	Marlin
	Iridium transm. retry
	Time to first GPS fix

	Nb of GPS satellites


Table 2 – Manufacturer’s choices for technological parameters

Parameter�
Bits�
Pos�
Min�
Max�
Formula�
�
Mode�
3�
0�
0�
7�
Fixed = 3 (011)�
�
Observation time � since 1st of January at 00:00�
16�
3�
0�
16382�
Hour (UTC) = n * 0.25�
�
Air pressure�
11�
19�
850�
1054.6�
AP (hPa) = n*0.1 + 850�
�
SST�
9�
30�
-5�
35.8�
SST (°C) = n*0.08 - 5�
�
Pressure tendancy�
9�
39�
-25.5�
25.5�
dP (hPa) = n*0.1 - 25.5�
�
Submergence count�
6�
48�
0�
100�
Subm. (%) = n * 1.6129�
�
Battery voltage�
6�
54�
5�
17.4�
Vbat (V) = n*0.2 + 5�
�
Iridium transmission duration�
8�
60�
0�
254�
SBDT (s) = n�
�
2nd Iridium Tech. parameter�
8�
68�
0�
254�
See table 2�
�
GPS fix time� since 1st of January at 00:00�
16�
76�
0�
16382�
Hour (UTC) = n * 0.25�
�
GPS Latitude�
20�
92�
-90�
98�
Lat (deg) = n*0.00018 - 90�
�
GPS Longitude�
21�
112�
-180�
197�
Lon (deg) = n*0.00018 - 180�
�
1st GPS Technical parameter�
7�
133�
0�
126�
See table 2�
�
2nd GPS Technical parameter�
4�
140�
0�
14�
See table 2�
�
Number of temp. probes�
5�
144�
0�
30�
Num = n�
�
Depth of temp. probe T0�
8�
149�
0�
0�
D0 = 0�
�
Temp. probe T0�
10�
157�
-5�
35.88�
T0 (°C) = n*0.04 - 5�
�
Depth of temp. probe T1�
8�
167�
0�
254�
D1 (m) = n�
�
Temp. probe T1�
10�
175�
-5�
35.88�
T1 (°C) = n*0.04 - 5�
�
Depth of temp. probe T2�
8�
185�
0�
254�
D2 (m) = n�
�
Temp. probe T2�
10�
193�
-5�
35.88�
T2 (°C) = n*0.04 - 5�
�
Depth of temp. probe T3�
8�
203�
0�
254�
D3 (m) = n�
�
Temp. probe T3�
10�
211�
-5�
35.88�
T3 (°C) = n*0.04 - 5�
�
Depth of temp. probe T4�
8�
221�
0�
254�
D4 (m) = n�
�
Temp. probe T4�
10�
229�
-5�
35.88�
T4 (°C) = n*0.04 - 5�
�
Depth of temp. probe T5�
8�
239�
0�
254�
D5 (m) = n�
�
Temp. probe T5�
10�
247�
-5�
35.88�
T5 (°C) = n*0.04 - 5�
�
Depth of temp. probe T6�
8�
257�
0�
254�
D6 (m) = n�
�
Temp. probe T6�
10�
265�
-5�
35.88�
T6 (°C) = n*0.04 - 5�
�
Depth of temp. probe T7�
8�
275�
0�
254�
D7 (m) = n�
�
Temp. probe T7�
10�
283�
-5�
35.88�
T7 (°C) = n*0.04 - 5�
�
Depth of temp. probe T8�
8�
293�
0�
254�
D8 (m) = n�
�
Temp. probe T8�
10�
301�
-5�
35.88�
T8 (°C) = n*0.04 - 5�
�
Depth of temp. probe T9�
8�
311�
0�
254�
D9 (m) = n�
�
Temp. probe T9�
10�
319�
-5�
35.88�
T9 (°C) = n*0.04 - 5�
�
Depth of temp. probe T10�
8�
329�
0�
254�
D10 (m) = n�
�
Temp. probe T10�
10�
337�
-5�
35.88�
T10 (°C) = n*0.04 - 5�
�
Depth of temp. probe T11�
8�
347�
0�
254�
D11 (m) = n�
�
Temp. probe T11�
10�
355�
-5�
35.88�
T11 (°C) = n*0.04 - 5�
�
Depth of temp. probe T12�
8�
365�
0�
254�
D12 (m) = n�
�
Temp. probe T12�
10�
373�
-5�
35.88�
T12 (°C) = n*0.04 - 5�
�
Depth of temp. probe T13�
8�
383�
0�
254�
D13 (m) = n�
�
Temp. probe T13�
10�
391�
-5�
35.88�
T13 (°C) = n*0.04 - 5�
�
Depth of temp. probe T14�
8�
401�
0�
254�
D14 (m) = n�
�
Temp. probe T14�
10�
409�
-5�
35.88�
T14 (°C) = n*0.04 - 5�
�
Depth of temp. probe T15�
8�
419�
0�
254�
D15 (m) = n�
�
Temp. probe T15�
10�
427�
-5�
35.88�
T15 (°C) = n*0.04 - 5�
�
Depth of temp. probe T16�
8�
437�
0�
254�
D16 (m) = n�
�
Temp. probe T16�
10�
445�
-5�
35.88�
T16 (°C) = n*0.04 - 5�
�
Depth of end�
8�
455�
0�
254�
Depth (m) = n�
�
Unused�
1�
463�
0�
0�
Always zero�
�






�	 TTFF(s) = n * 2





